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1 Introduction
1.1 Objectives

2 BAME T29 Coffee Machine System@| System TestE &5t st EAO0|Ct K|
AlEl Software Requirement Specificationdt STPOIA Zfdst Al S HIECE, KOHE

TO| £A=K =Hlst= Ao SHE FOf HISAUC

—_

1.2 References
[2016SE_B][T1]STP_Ver 1.0.docx
T2_manual.pdf
T2_STPpdf
T2_SRA_rev3.pdf

2 System test case specification
2.1  Test case specification identifier

<Test Case |dentification>

Identifier Feature Valid/invalid

CMS_STC_000 | 3t EA| T2 A|RSIH HXY A|ZH S| AE} MEf =g M
B 2F = I 7O MEERSF), 7tF AL % AL 7t
F Ha e, AL o Azt B oAzt ORIt =Y
ECh

CMS_STC_ 001 | AL =& 2F | AEXIt &2 o2 BWE I =& HE0| s =7t
& SIH FES AESICL WEIF EFE Al o3 SHES
ZHoi}

CMS_STC_002 | B 2F ALBAZE HA oS EHE I 0| F2I0H s
AlZfoic 0| &% Al o2 atHES ZHSC}

CMS.STC 003 | s= Hd 28 | A8XVt s 2% 882 2HE If s&itF StLHE M
Bt O o2 s=& MFsiot

CMS_STC_004 | & 2H ALBAZL EE @F2 ENE I EF WS L0 EF
gt o] BFE YWD AZ YH W=Cf WHEQ YOolLt
sHHO| EES = e Ao A7 LA o 2O AIX| 7}
S& =t

CMS_STC_005 | M7H7| ®H 2F | AHBXZ7F WIHZ| HAH @82 EWE W ®WAHZ|7L A &
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Ct.
CMS_STC_006 | 0 2F AHEXIZE ofof S HWE Wf oY tHS =1, 0fof
AlZtE 28 2=Ct SHE LS WS W AT SERTL
HAZC 2 HH L OAE otHES =Lt
CMS_STC 007 | 2& 28 8% | ME8A7F 2k 23 2¥s EXHE O, MY 2&7t 2¢
W do= HAu o= HHRCH
CMS_STC 008 | && Q¥ MERZE B2 s EWHlS I Szttt
2.2 Test items
<Test case specification identifier H|0|& &=x>
2.3 Input specifications
<Test case specification identifier HO|& & x>
2.4 Output specifications
<Test case specification identifier HO|& &=>

3 Environmental needs

7]

H

Al A|ABICMS : Coffee Machine System)2| System TestE ot AN QPALE 2

I-|:|._

Cf

dlo

at

mN

(1) Hardware & Platform
GCC compiler/linker
(2) CTIP(Continuous Testing & Integrated Platform) Environment
Cygwin
4 System test summary report

4.1  Test summary report identifier

Test case identifier

Input specification

Output specification

Pass/Fail/Unknown

CMS_STC_000_000

T2 AR

oo AbEf =2

Pass

CMS_STC_001_000

Menu Input = 1
S5 = M

Unknown

(Of cef

dEio| AUt ==
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2r = W CIREX =2l 27t
=2 = 1000ml S)
HE T = 1009
7t& 7O /% =o
WH?| F5F = x
CMS_STC_001_001 Menu input = 1 <AL HAC|  HA|X]>7} | Pass
sk = T It #F5l0 RFE 2
°r = 4 St
£ = 1000ml <AX oEi> FEF
& ZHEF = 100g
7t Ao /5 =x | <ATOAL  HAIX]>H
WH7| F5F = x OE FEotASH T
CMS_STC_001_002 Menu input = 1 <AL A MA|X]|>F | Unknown  (OfIHTH
sk = T OE F&otASL T HEfO| HOZt =&
2 =2 ZIAEX =2l 27t
= = 1000m| S)
A5 THE = 100g
7t& 7O /% =o
WAH7| F5F = x
CMS_STC_001_003 Menu Input = 1 <AOM Ao HA[X]> T} | Fail
sk = TSt Lt JF7 2550 A
2 = 4 OE 8¢ + syt
£ = 1000ml
HE THE = 0g 2| s
7t& AO |8 =x
WAH?| 357 = x
CMS_STC_001_004 Menu input = 1 <ATmoAlel  OA[X|>Z | Fail
sk = T of £F5l0 HUE F&
2 =4 g = iU
= = Oml
HE T = 1009 22| 93
7t& 7O /8 =x
WH7| F5F = x
CMS_STC_001_005 Menu input = 1 <AOMAe|  HA[X]>Z | Fall
sk = T O] £F3l0f HULE F&
2 =4 g = gsuct
£ = 100ml
2016 Team 1 5
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71F Ao FF =x
WH?| 5% =0
CMS_STC_002_000 Menu input = 4 <Aool HA[X]> Pass
£ = 1000ml SHAE AL
<O Aol TA|X|>
HA7L 2 ASLCE
CMS_STC_002_001 Menu input = 4 <O lo| HA[X]> Fail
£ = 100ml 20| 2ZE3510] EYAE
AlZrg = glauct
22| S
CMS_STC_003_000 Menu input = 2 <AL A HAIX]> Pass
MElsE = ZSHAH | s=7b B JASLICH
Select = 1 MEHEE = ZISHA
CMS_STC_003_001 Menu input = 2 <AL A HAIX]> Pass
MEds = ZIStAH | s&=7F HH S LICH
Select = 2 MEisE: = 57t
CMS_STC_003_002 Menu input = 2 <O lo| HA[X]> Pass
Mtz = ZIStAH | s&7F HH S LI
Select = 3 MEiEE = CISHA
CMS_STC_004_000 Menu input = 3 <AL A HAIX]> Pass
YT T = 50g AFE EFSIAEULC
Select = 1 HE T =80g
Value = 30
CMS_STC_004_001 Menu input = 3 <AHIMAO| HA|X]> Pass
7t& 74O |8 =x | AL 7IRE EZSIUS
Select = 2 L|Ct.
Value = 1 712 AOl 8 =o
CMS_STC_004_002 Menu input = 3 <O Ale] HAIX]> Pass
£ = 500ml =22 ESSASLHCL
Select = 3 = = 865ml
Value = 365
CMS_STC_004_003 Menu input = 3 <AHIMAO| HA|X]> Pass
U5 THE = 509 Hetel 8¥& Xtstof
Select = 1 Y MEE FHE =+
Value = 80 =gy
CMS_STC_004_004 Menu input = 3 <AHI M AO| HA|X]> Pass
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7t& 7O /% =o | MtE 82 XntEto
Select = 1 Y MEBE FHE =+
ASLICH
CMS_STC_004_005 Menu input = 3 <O Ao T A|X]> Pass
= = 500ml HotEl 88 X5ty
Select = 3 Y MEE FHE =+
Value = 800 L
CMS_STC_005_000 Menu input = R <O lo| HA[X]> Pass
WH7| RF = RH7|1E M AL LT
KH7| &8 =
CMS_STC_005_001 Menu input = R <O Ao T A|X]> Pass
WH7| K% = x RH7|1E Mg L Ct.
RH7| 28 =
CMS_STC_006_000 Menu Input = 5 O|efAIZHE HAIBHF 1 | Pass
sk = T s AlZtol E|® ZdS
2 =4 Tlgsict,
£ = 1000ml £ = 900ml
HF T = 1009 718 AHO F7 =x

72 AD 88 =0 |WAH7| £F = o
MIAHZ| FF =x
Select = 1

Time = 225

CMS_STC_006_001 Menu Input = 5 O|fAIZtE HA[SIF1 | Pass
£ = 1000ml s AlZto] =8 XS
Select = 2 ISt
Time = 225 = = 500ml

CMS_STC_006_002 Menu Input = 5 Ht2 ZtZ SOt Pass
sk = TSt 2 = 900ml
2 =4 718 O FF =x
= = 1000m| WH7| 82 =0
A5 T = 100g
7t& 7O /% =o
WH7| @8 =
Select = 1
Time = HXA|Zt

CMS_STC_006_003 Menu Input = 5 Ht2 ZfSSHC} Pass
= = 1000m| = = 500ml
Select = 2
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Time = XA ZH

CMS_STC_006_004 Menu Input = 5 24AM2t BI|ME AMESt | Pass
sk = T 7] 2o Ch2d st
2 =4 Ct.
£ = 1000ml = = 900ml
& ZHEF = 100g 7HE AHO K& =x
b2 74Ol 9% =0 | WH7| 8% =0
WH7| F5F = x
Select = 1
Time = X|A|Zt
CMS_STC_006_005 Menu Input = 5 242t BI|ME AMESt | Pass
= = 1000m| 7] W=of 2 ZHset
Select = 2 Cf.
Time = X[hA|ZE = 500ml
CMS_STC_006_006 Menu Input = 5 oeE 7ICt2|ct Z&SE | Pass (but A2|l& Of
sk = T I FE MAIXIE =3t | ™3| )
2 =4 ct.
£ = 0ml <m0 Ao TA[X]>
HE THE = 0g 20| =5l AHOE F
7t2 AL |8 =x | & F dsUC
WH7| F5F = x
Select = 1 22| s
Time = 225
CMS_STC_006_007 Menu Input = 5 ok Z|Cke|Ct EEE | Pass (but &2l Of
£ = 0ml I 2F HAIXIE = | H5| )
Select = 2 Ct.
Time = 2&2% <O Aol TA|X|>
=0| ®E3to] 2FAE
AlZrg = glauct
22[9S
CMS_STC_007_000 Menu Input = # <O Ale] HAIX]> Pass
2 = 4 7tE0| 22 E[AELICH
2 =2
CMS_STC_007_001 Menu Input = # 2 = 4 Pass
er =
CMS_STC_008_000 Menu Input = @ Pass
2016 Team 1 8
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Total test case : 31
Passed : 25
Unknown : 2

Evaluation
Failed : 4

42
Feedback

Kio n B
~ < [
[y _._._._ {0
or B o
= = Ki
4 - Kk
R B =
o | LY
33 I =0
o3 oj Wo
A Ir_._._
N R
foll o) =
ol ar 1ol0
o ol <0
® ol 41
o ™ To
—— A 10
r_, = <k
ol a
§ me g
Ko s ol
ol o
= = Fl
%um 10 o
9 Bl
o8 T on
K K o
B G -
I I
~ ~
= & 9 N
Hogz N <H
<0
— <« M |
= 1o S
Bl HU M R
I
ss B
10 o) w
op Y& |
sr 0 a1 T
T T ~ KO ™

8Lt

Siof AL F=2 TYSIRALCE
Team 1

4

ol
=]

O SH7l e 12 2

| -

—

F

.

o
2016



